Quiz VC Merksplas

9 maart 2013

NAAM PLOEG R1|TR1| R2 [ R3 | Ra |TR2[ R5 | R6 | R7 | SR | L | Totaall Plaats
20 Heide en Heerd 7 |20| 8 |13|10|24| 6 [12]|13|38| 8| 159 1
12 De loco's 7 (16| 8 |11|12]|22| 5 |12|15(42| 6 | 156 2
19 de Robbedoezen 5(17| 7 | 11 23| 6 |12|15|44| 4| 153 3
15 De Hertogen van Brabant 8|18 7|8 |7|25|8|11]|13|41|6]| 152 4
22 Rubet en z'n quiztet 5197 |8 |11|22| 6 |11|16|36] 6| 147 5
37 FC Chapeau 6|16| 8 [10| 9 (20| 5| 11|16]43| 2| 146 6
18 Vincet Sitienti 5(18( 7|7 |9]22| 6 |11|13|36| 6] 140 7
29 Heren 2 6|16/ 8|9 |6|21|5|10[13]|39| 6| 139 8
21 Niks meer te bewijzen 6|17 8|9 |9|20|5|10|15[36| 4| 139 9
13 Tetten 2 5|19/8|9|8|14| 6 |10|14|41| 4] 138 10
8 CHAOQOS 71677 |7]22| 6|11|14|37| 4] 138 11
10 Recrea heren 6159|118 |21| 4 |11[13|34| 5| 137 12
30 Schoppen Dam 5(16|7|8|9|14]3|11(13|43|5| 134 | 13
14 De kolonisten 7113 6| 8|10[{18| 4|9 |14|41| 4| 134 14
6 De huppeltrutjes 5(17| 8|7 21| 6 (11| 8 (37| 5] 134 | 15
38 kKWIZZtet 5(18( 7|7 21| 5|10|12|35| 2| 131 16
7 De brouwerkes 6|16 6 | 9|10[19| 4| 9 |14|33| 5| 131 17
11 Het lawaai 6|16| 8 |11| 8 |20 5|11|13]|29| 4| 131 18
2 HACOS 5|16 7|11 8 [17| 5|9 |11|34| 5| 128 19
25 Koffie Verheyen 8 (15| 8 |11|10|18| 6 |11]|13|24| 4| 128 | 20
36 Jo is jarig 5(14| 8 8 (14| 5|11|13|36| 4| 126 21
9 De moeilijke tafel 6125 12(12| 3 |11|12|35| 6| 123 | 22
3 Wa was de vraag nu weer? 5(18( 7|11 6|17| 4 |10|11]|28| 4| 121 23
27 Heren 1 4(16|5|7|4|15|5|11|12]|33| 6] 118 24
32 De coole mama's 5|18| 6 [12|11|15| 5 |10|11|20| 4| 117 25
17 T Spijkertje 5(13|6|8|8|21|3|9|12|22| 6| 113 | 26
26 t Is groen 7|18/ 6|8|7|17|6|10[12|17| 5] 113 27
28 de Kareltjes 5(17(7|9|8|11] 4 15121 6| 112 28
5 Kwistet bekan 5(11|6|8|5]|11] 3 13|34| 5| 110 29
1 Kwisthet 6|17|5|9| 6|14 3|8 |11|27| 4] 110 30
23 Dames 4 4(15/4|6|5|5|4|10|6]|36|6] 101 31
16 De uilen 418|4|9|5|20]3|11|12|19| 6] 101 32
4 Kwis jekwik 6|15 7 |10| 8 [17| 5 |10({11| 8 | 2| 99 33
34 Kwistetni 7|11l6|7|6|8|3|8|13[17|4]| 90 34
35 Nova 3|14 4|10|5 (12| 4|7 17| 6| 87 35
24 De jeugd van dames 1 2 (13| 4 8 (12| 4|7 17/ 6| 86 36
31 Kwistet ook 6 13| 3 8|10l 2|6 |12|13| 6| 86 37
33 Kwistet 4(14|5(8|6|1|6|7|7|13|4]| 75 38




